
Word problems Year 2 

 

1) Tom has 13 hens on his farm and Finn has 2 hens of his 

farm. How many hens do they have altogether? 

2) Mum has 25 packs of crisps. She gives 3 of them to her 

children. How many packs does she have left? 

 

  

 

To access the 4 complete worksheets (including answers), with 10 

questions on each, at these levels of difficulty: 

  addition, subtraction and multiplication only 

  one-step problems with all 4 operations 

  two-step problems with all 4 operations 
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http://www.saveteacherssundays.com/maths/year-2/124/word-problems/  

 

 

© www.SaveTeachersSundays.com 2013 

http://www.saveteacherssundays.com/
http://www.saveteacherssundays.com/maths/year-2/124/word-problems/

